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HTHT= 4597 :
HETITRET 145911 @1 a5 FIae] & Tigq SiiX 371 axed @ 9Iei Hilarg :
(i) 39 ¥99-97 4 F7 39 7 & | @t yv7 37f4ard & |

(i) F8 Yo7-97 Tia @Sl § [RYIfSa [ 7 3 — &, @, T, TG F |

(iii) @Y & - Fo7 G&IT 1 & 20 T%F FGIaHcdid JHR & 97 & | Te% Jo7 1 HF 7
g/

(iv) YW - J57 G&I7 21 T 26 TF 3717 TG-ITHIT JHR & 97 & | I9% J97 2 371
T & | 57 F991 & I 30 @ 50 3155] H 3¢ 57 F07W |

(v) @Y T - FIT H&IT 27 8 33 T 7Y-IH0T JHR & Y9 & | Yedb Y97 3 A H
g | 37 3991 & IT 50 T 80 gl H 13T T+ =TT /

(vi) U T - J97 &I 34 T 36 T FH-3IIT PR & o7 & | I9% o7 5 3Hhl H7
g | 37 3591 & I 80 @ 120 Vgl 7 13¢ 17 =FfeT |

(vii) WIS F - F97 G&IT 37 & 39 TF 3 GIF-STTIRT/THI-ITENRG FHIFT & JodATHT
4 3B & J97 (39-F7 glza) & |

(viii) ¥7-T7 § GHF [T 781 1597 o7 & | FE, F6 GUsl 4 aRe 9T 15T T
g 1 39 YBR & J71 4 a7 Uk &1 faheq &1 I v |

«us

97 G&IT 1 T 20 T & 4% F¥41 4 130 TU GR l9%heyql 4 & gad 3fad fadheq giag
37 ferrge | 20%1=20

1. Trafafed tamfe afieor @ aqfad & & T ol x, y 3R 2 % 94

NN

ShHYT: B TTRU

x Zn(NOg)g —2— y ZnO + z NOg + Oy

(A)  4,2,2 (B) 4,4,2
C) 2,2,4 D) 2,4,2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises 39 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — A, B, C, D and E.

(iti) Section A — Questions No. 1 to 20 are multiple choice questions. Each question
carries 1 mark.

(iv) Section B — Questions No. 21 to 26 are very short answer type questions. Each
question carries 2 marks. Answer to these questions should be in the range of
30 to 50 words.

(v)  Section C - Questions No. 27 to 33 are short answer type questions. Each
question carries 3 marks. Answer to these questions should in the range of
50 to 80 words.

(vi) Section D - Questions No. 34 to 36 are long answer type questions. Each
question carries 5§ marks. Answer to these questions should be in the range of
80 to 120 words.

(vii) Section E — Questions No. 37 to 39 are of 3 source-based/case-based units of
assessment carrying 4 marks each with sub-parts.

(viii) There is no overall choice. However, an internal choice has been provided in
some sections. Only one of the alternatives has to be attempted in such
questions.

SECTION A

Select and write the most appropriate option out of the four options given for
each of the questions no. 1 to 20. 20x1=20

1. To balance the following chemical equation, the values of the coefficients
x, y and z must be respectively :

x Zn(NOg)g —2— y ZnO + z NOg + Oy

A 4,2,2 B 4,4,2
C 2,2,4 (D) 2,4,2
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2. fTr=faRea & @ s=-t sfufsen Eiww sifufsrn @ 8, wg aaem sifafsean
TET = ?

(A) C+0,->CO, (B) 2H,+0,>2H,0

(C) 2Mg+ 09— 2MgO (D)  Fey03+3CO —2Fe+3CO,
3.  Tldl & 39 (Gadeeh) H UM &9 7

(A)  hfcuad Hiehe (B) AW wiehe

(C) Tifsay wiehe (D) UGEET Biehke

4. OIfsIm FAEE o Tl faerq Tgd Sl O o9 T 8 | 39 foera w1 pH
2
(A 6 B) 8
o 7 (D) 3

5.  Toreft arg X’ =1 ST oftfe shm | foRa SITaT B | 9 X w1 ATaRdSE % @1y
T fRAT ST 8, @ AE HIS GRS Y <al 7, Frehl Whfd Iwged 7 |

K R Y HUL: B
(A)  Mn, MnO, (B) Al Al,O4
(C) Fe, FeyO4 (D) Mg, MgO

6. g Uik e urgwi H Yhmr-wveNu & goeia (foo™) 3curg w1 g
(ufaga) gt &, Seard 2
(A)  STSICESH (B) AT
(C) A (D)  EIMEA

7. 9 § fRE T 9%q I T W I W B Gl AT T TE P B

(A) T H UTE — Yeh dlEehl hifRThT — JTEROT diEenl Hifteh — Tdd
dfeRT SHITITRT —> BT T YuTaeh (hrieRT) Uit

(B) =T H UTEl — UTq@RoT diehl hifSehl — Hadl diest ISRl — AT
df3eRT HITTRT — B1Y T YuTash (hriRt) ush

(C) I H UEl — Hadl dfFehT hifsTehl — IfaErRur dien hifsreh — Ik
AT HIHRT —> BT H 9T (i) Ut

(D) Il T UTEl — Hadl diAehl IRl — B T 9T (Hrdet) usft - Weh

df3ehT ShIfSTeRT — TTAETUT df3ehT ShifSTehT
Qcollegedunias
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2. Which of the following is a redox reaction, but not a combination

reaction ?

(A) C+0,-CO, (B)  2Hy+ 09— 2H,0

(C) 2Mg+ 09— 2MgO (D)  Fey053+3CO — 2Fe+3CO,
3. The salt present in tooth enamel is :

(A)  Calcium phosphate (B) Magnesium phosphate

(C)  Sodium phosphate (D)  Aluminium phosphate
4, An aqueous solution of sodium chloride is prepared in distilled water.

The pH of this solution is :

(A) 6 B) 8

< 7 (D)

5. A metal X’ is used in thermit process. When X’ is heated with oxygen, it
gives an oxide Y’, which is amphoteric in nature. X’ and Y’ respectively

are :
(A)  Mn, MnO, (B) Al Al;,O4
(C) Fe, FeyOq (D) Mg, MgO

6. The process in which transport of soluble products of photosynthesis
takes place in plants is known as :
(A) Transpiration (B)  Evaporation
(C) Conduction (D) Translocation

7. The correct sequence of events when someone’s hand touches a hot object
unconsciously :

(A)  Receptors in skin — Motor neuron — Relay neuron — Sensory
neuron — Effector muscle in arm

(B)  Receptors in skin —» Relay neuron — Sensory neuron — Motor
neuron — Effector muscle in arm

(C)  Receptors in skin — Sensory neuron — Relay neuron — Motor
neuron — Effector muscle in arm

(D)  Receptors in skin — Sensory neuron — Effector muscle in arm —
Motor neuron — Relay neuron
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8. o8 W=l (Had 31 fred womtd Sufeyd a8, S ® 2

(A)
(B) o=
©) T (Shw)

(D) 3Tk &1 (M)

9. UL H IR H HET FHI 7 :

(A) I8 Tk avad (fewp) & i ufym <t fufa 4 g @t @ |

(B) 39 YUT hl 3N & Haeh § T4 gd 7 |

(C) I8 WIAT § YU I ThIS R ITFHISH o TAFFT o (¢ Th §gd
DIl I3 & YGH T 2 |

(D) 3EY BIHL YUT HIAT < SR T N1 YTed T 8 |

10. fm=faRed # @ g9 UA (I8) & Iohs W FS-Fha! o digal d HeH o fow
B?I'{Elzﬁ gftfefaat T*:[Fvl'Q :
(i) AUk T | SSATI[AT T T
(i) s T T W uwen i Iufefa
(iii) = am
(iv) e dq ! JuTedfd
(A) (1) 3R (i)
(B) (i) 3R (iv)
(€) (i) 3 (iii)
(D) (i) 3R ([Qv)

11.  3fe forelt 3T &8 & S 1Y 9F ) HAd AT Y & 601 AW, a1 39 98
N & Tfors 9 =T T9Te 98T ?

(A) R T g S Tl % @13 1 AT H Tdlers 1 H1gS T A |
(B) fora & Fudt sna wm &1 gfafers 78 T |

(C)  Yfdfera <t = &9 & S |

(D) 3ee Ufdfera =1 f=ren smen wmr 78 a3 |
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(A)
(B)
(C)
(D)

(A)
(B)
(C)

(D)

Sense organ in which olfactory receptors are present is :

Nose
Skin
Tongue

Inner ear

The incorrect statement about placenta is :

It is a disc embedded in the uterine wall.

It contains villi on the embryo’s side of the tissue.

It has a very small surface area for glucose and oxygen to pass
from mother to the embryo.

The embryo gets nutrition from the mother’s blood through it.

10. Select from the following the conditions responsible for the rapid spread

of bread mould on a slice of bread :

(i)
(ii)
(iii)
(iv)
(A)
(B)
(C)
(D)

Formation of large number of spores
Presence of moisture and nutrients in bread
Low temperature

Presence of hyphae

(1) and (ii)

(i) and (iv)

(ii) and (iii)

(111) and (1v)

11. How will the image formed by a convex lens be affected, if the upper half

of the lens is wrapped with a black paper ?

(A)

(B)
(C)
(D)

15-31/5/1

The size of the image formed will be one-half of the size of the
image due to complete lens.

The image of upper half of the object will not be formed.
The brightness of the image will reduce.

The lower half of the inverted image will not be formed.
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12. Sgud¥ @ 44 O Gftiferd Yeprer st qftereTd § -
(A)  T9add, Tadd T giemor (fagmon)
(B)  319adH, aieiuur (fagmur) it St=afies qreds
(C)  uredH, ufemur (fagmur) 3t swafies aredH
(D)  3T9acH, IRETOT (Ta&dor), JehivH 3R Ui ST=Ieh aure

13. I % foRd aui () o foTu g &1 3TuadTs T8 &0 8 ?
(A) < (B) e
C© = (D) &

14. <& Jroeh o GHM rEeh & 3c0d i dTel gRETa! Iih @
(A)  Hidn =eteh (B) TR 9=
(C)  UiATfeTeR (D) AR HUS

15. T

v

v

e D" THEAE TR &

W

v

v

3R@ W T ITTHR HITA o a1 H hl3 ThUHM Fraehd & YU 8 | 39
& |, P13 soiag (e7) 3 IS T (p*) TTT STTEAR TR L & | Feiag
qgT qifeleia W & a1t et shi femm gt

(A) THI W HATH & adl o Hal 6l AN |

(B) gFI W HFTH & dcl & Tl ehl 3TN |

(C)  ShHIM: T o dcd o a1 A AT HITH & 9o o o1&l hl AN |
(D) SHUST: SETH o T o ST& shl TR AT HITH o add & Hiat il 3T |

16. HAREGd § § HH-81 Iehldsh ITRAA 7g7 & ?

NI SIEREGE (B) U9 &1 HeM IiEs
(C) o (It) uTiax (D) HEA Y| T
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12. The phenomena of light involved in the formation of rainbow are :
(A)  Refraction, reflection and dispersion
(B)  Refraction, dispersion and internal reflection
(C)  Reflection, dispersion and internal reflection

(D)  Refraction, dispersion, scattering and total internal reflection

13. The colour of light for which the refractive index of glass is minimum, is :
(A) Red (B)  Yellow
(C) Green (D)  Violet

14. The current carrying device which produces a magnetic field similar to
that of a bar magnet is :

(A) A straight conductor (B) A circular loop
(C) A solenoid (D) A circular coil
15. 1
- L pt > Uniform
> magnetic field

A uniform magnetic field exists in the plane of paper as shown in the
diagram. In this field, an electron (e™) and a positron (p*) enter as shown.
The electron and positron experience forces :

(A)  both pointing into the plane of the paper.
(B)  both pointing out of the plane of the paper.

(C) pointing into the plane of the paper and out of the plane of the
paper respectively.

(D)  pointing out of the plane of the paper and into the plane of the
paper respectively.

16. Which one of the following is not a natural ecosystem ?

(A)  Pond ecosystem (B)  Grassland ecosystem
(C)  Forest ecosystem (D) Cropland ecosystem
15-31/5/1 9 P.T.O.
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Uy7 §&qT 17 @ 20 & 70, @1 %97 30 70 § — 574 Uk &t 9w (A) agmr
gt &1 HRUT (R) GRT 3ifaha a1 741 § | 37 9741 & @gl 3¢ 719 137 77 Higl
(A), (B), (C) & (D) & @ g7at Ffrv |

(A)

(B)

(C)

(D)

R (A) 3R SR (R) HT T& & 3T RO (R), AR (A) 6
g TS KT 27 |

AMHYA (A) 3R SR (R) AT HEl &, Tg SR (R), AR (A) i
& AT 7T S § |

AR (A) T& B, g RO (R) Teld 2 |

AR (A) TAd B, T SR (R) T R |

17.  379%97 (A) : B IT9 dat Teededs 3id ¢ |

o NN

FRU(R):  HHAAA: I dAl § AFl TG hleH TGATE el @ |

18. 37fY%hy7 (A): <= o1 fom1 39 oa ¥ Fuifid gar & o5 98 s =@ 9 <=

I L & |

HRU(R):  Tfgamen # XX fer o gid & |

19. 374Hg7 (A) : Tt =Tcsh § Soiged oA fava ¥ s1fYes fawa it 1R i ed

g |

FRU(R): s Ih Ha Tohd] dTeieh o ol W foega favara s-e @

2 |

20. YFHYT(A): T TA Yl oh TS I Fli-hReh TUSTHI Talehton & geam

e Hidl B |

HRIT (R) : FARF BT (CFCs) 3T W o & o ol TR 8
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For Questions number 17 to 20, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given
below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

17. Assertion (A) : Some vegetable oils are healthy.

Reason (R): Vegetable oils generally have long unsaturated carbon

chains.

18. Assertion (A): Sex of the children will be determined by what they
inherit from their mother.

Reason (R): Women have XX sex chromosomes.

19. Assertion (A) : Electrons move from lower potential to higher potential in

a conductor.

Reason (R): A dry cell maintains electric potential difference across
the ends of a conductor.

20. Assertion (A) : Ozone layer protects the surface of the Earth from
harmful UV radiations.

Reason (R):  Chlorofluorocarbons (CFCs) are responsible for depletion

of ozone layer.

15-31/5/1 11 P.T.O.
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Qs @

97 G&IT 21 G 26 3T TG-FFIT I |

21. (a) Torell = four § S 9ol TRt 38 SR & T foRAT T B | S Tl
3qTe o A9 3T IHeh TT 1 Sl hItT | B4 dTedl STThAT <Al
T g fafiau | 2

AT

(b) dfEH FAREE R Gifead Gche & I fao=a & €9 g9 aref
e AMUhIT 1 ToEHs gt fafge | 59 Afufsear &
UG B9 Tl Afes | IUFEIT 3T—AT & Idies faafay | 2

22. WA % MR o oA IR TG AHIG: 1 g g 3R I feepm
foe[d < PaTeish 8Id & | 3 F 70N oh STTUR W &1 st 1 Ieci@ HifT | 2

23. (a) -t dred T, Raenfeai 6 ufvmt § Ueq () & St 8 | uEn
FI BIAT 8 2 39 TRWI H B4 9T Y98 I 3999 ¥ fohE R i

BT &8 ? 2

STt
(b)  AHIRT T 31 919 fARGU | 35k @ HRT &1 Ioai@ FHIfTU | 2

24, FS THHINEHE G S8 TAsHTSTH HX AT hi 1 1 fafleri # w=mw
gl & | 39H B4 dreil S UishansT o 9 fafgy 3t 39eht =amean hifsu | 2

25. Tordll 3O ¥ g g o T 1 TRt foig W shfegd s o RN I FoA1
¥ IS A ST 2 |

(a)  SATEAT SHIfSTT UHT R BT 8 |
(b) 8 forg W A JoH1 Y& 1 8 (TN [T T @ 6 FeH H) 39
fog (qg) w1 T fofaq | SETS W 1 98 =IHehaR foirg (¥aTe) Teherehl

frequr st 8 2 2

26. W3 g | 500 FAMH AT 6T JATYfd H Tehal & | IS HIS IRE 25 mA
g il 8, d1 Fa shitie fop o8 fogga @ia fohad a9 ® U €9 9 3EEREG
(few=mst) & st | 2

:
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SECTION B

Questions no. 21 to 26 are very short answer type questions.

21. (a) Copper powder is taken in a china dish and heated over a burner.
Name the product formed and state its colour. Write the chemical
equation for the reaction involved. 2

OR
(b)  Write chemical equation for the chemical reaction which occurs
when the aqueous solutions of barium chloride and sodium
sulphate react together. Write the symbols of the ions present in
the compound precipitated in the reaction. 2

22. The melting and boiling points of carbon compounds are generally low
and they are largely non-conductors of electricity. State two conclusions
based on these two properties. 2

23. (a) Sometimes while running, the athletes suffer from muscle cramps.
Why ? How is the respiration in this case different from aerobic
respiration ? 2

OR
(b)  Write the other name given to lymph. State its two functions. 2

24. Some unicellular organisms such as Plasmodium and Leishmania differ
in the manner in which they reproduce. Name and explain the
reproductive process taking place in them. 2

25. The heat produced at a point due to concentration of sunlight by a convex
lens burns a paper.
(a)  Explain why it happens.

(b)  Name the term (in the context of the lens used) given to the point
at which the paper starts burning. What does the bright spot
formed on the paper represent ? 2

26. An electric source can supply a charge of 500 coulomb. If the current
drawn by a device is 25 mA, find the time in which the electric source will
be discharged completely. 2

15-31/5/1 13 P.T.O.
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wus

Y97 G&I7 27 T 33 TG-ITT T 8 |

27.

28.

29.

30.

B Hothe I

IR hl hid

ARG | eSS TR STEAT ohl FALIIT hich B4 Tl T 3Tffshan
& TEREES TR fafge | 59 AR & TR o1 AW 3T 3Hehl qitymST
fIfEu | 3TRRA & TAM W UHt g T 91g3di & A foifgu {SFeht 3w i
othe fao™q & oy 56t TR bl 7ffshan <t e o foru fopam S geman 2 |

Hehdl o 3TIEh o1 AW fAREY | I8 Tohid | 9 &9 | 911 ST & 361 Ioai@
HINT | ARt I T4 IFEh T feehiSa wd | g arcll Afufshaneti
Tt TeieRt aitfeufa i gwid gu fafan |

foheal QI Si=q AT HX ITeh! Ffad A aTell TR 1 IS8T Ad g AT

SIS foh o8 g R H (1) ghg R T/ a1 (ii) JUTI= T HIwH e |

ferd Toh T HEMAT Hd 7 |

Hed 4 g T o A gl (TT) 3R I[g HX b S Tl (tt) T ThLOT hiThT

F, Hdld % NY 9 Y | & Fy dafd o diel 1 E&9-900 S T, dl

F, Hdld % WY 31 7 |

(a) F,Edfd o 919 o8 TR o fG@d o ? 3eR1 S FAoH fIRaT |

(b)  F, &ald % didi § -9 o A 1 a3k 781 §U ?

(c) FyHald ¥ U el o1 Furd fTRae 3 38 S o fwehy &1 Soci@
T |

15-31/5/1 14
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SECTION C

Questions no. 27 to 33 are short answer type questions.

27.

28.

29.

30.

Test tube
Thread

Copper sulphate solution

Iron nail

Study the experimental set-up shown in the diagram and write chemical
equation for the chemical reaction involved. Name and define the type of
reaction. List two other metals which can be used in place of iron to show
the same type of reaction with copper sulphate solution.

Name the ore of mercury and state the form in which it is found in
nature. Write the chemical equations along with the condition required
for the reactions involved in the extraction of mercury from its ore.

Taking the example of any two animal hormones along with their gland of

secretion, explain how these hormones help (i) in growth and development
and (ii) regulate metabolism, in the body.

Mendel crossed pure tall pea plants (TT) with pure short pea plants (tt)

and obtained F; progeny. When the plants of F; progeny were

self-pollinated, plants of F', progeny were obtained.

(a)  What did the plants of F; progeny look like ? Give their gene
combination.

(b)  Why could the gene for shortness not be expressed in plants of
F, progeny ?

(c) Write the ratio of the plants obtained in F5 progeny and state the
conclusion that can be drawn from this experiment.

3

3

15-31/5/1 15 P.T.O.
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31. (a) = feu U 3@ w1 eTEA Hieh Eid e o I T

(i) 39 3@ ¥ e MU gfegy o1 4M fafew it v feufa (2w)
& T ITeEr 93 & 9T T Seai@ i |

(ii) 39 SN o G BRI hl P IARY |

(i) 39 QY &% TIMYA & I 3w fFU I a1t | o IR T TM
forfaw qen 5o yeptor | Imehl Yfiert 1 Ieai@ HINT | 3

AT

(b) Y JIT I fagqur (uftemur) fhm w8d 8§ 2 39% B ok RO HI
3eoi@ HITT | hid o 50 gRT I9d TehT9 G o (A& sl guIH
foru s e | 3

32. (a) T BT @ A« fohell URATITeRT Shl Hecil, Fored &g worl g yarfgd ql
@R, & ik 99 AR & a0 & 9ved i W fear S g 2 gd @
arett Jfw o1 9 Tl | 38 o8 AW w=i foam = g 2

(b) TrE arrerd uieferst o i I greshi & W@reT @ TR
HIRTT | Fraehr &= W@redl 1 I8 I i LT 7 2 3

33. MER @Al N MER A & &g faved hifle | afg fewor, g8 i w6
forelt SRR e § faoll <l T& =2 S, a1 YoM 9l T SR i 9 &R
o Sfdl s S-S I F91 T 2 3
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31. (a) Study the diagram given below and answer the questions that

follow :

(1) Name the defect of vision depicted in this diagram stating

the part of the eye responsible for this condition.
(i1)  List two causes of this defect.

(iii) Name the type of lens used to correct this defect and state

its role in this case. 3
OR

(b)  What is dispersion of white light ? State its cause. Draw a diagram

to show dispersion of a beam of white light by a glass prism. 3

32. (a) What happens when a bundle of wires of soft iron is placed inside
the coil of a solenoid carrying a steady current ? Name the device

obtained. Why is it called so ?

(b)  Draw the magnetic field lines inside a current carrying solenoid.

What does this pattern of magnetic field lines indicate ? 3

33. Differentiate between food chain and food web. In a food chain consisting
of deer, grass and tiger, if the population of deer decreases, what will
happen to the population of organisms belonging to the first and third

trophic levels ? 3
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34. (a)

(b)
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T Ih FIUAT Ao H HE Hohe oh HS fsheeal i ool TH TeRaT
T | $® GHY 99EIq Aol °§ I I S8 ¢ foas 4 |

(i) S 1 A8 §g Hal § G g5 ? ARAT HINT |

(i) T S T T H 0 qEae feErs g 2

(iii) TP B Gohe (FeSO,) Tshted o 10 & @Y I o fohaH
I FB B E ? () HW Gehe, I (1) Gifgam wEHe &
fohtceta &4 < 3fuges 3 fafaw |

(iv) Soag hifvu for Noam 8 wreer 317% ufE forg T ared feman

STl 2 | TATE 3176 U o 21 39 faikau | 5

HAAAT

e 3 § 3UfCd e X Y # fhemn S 7, ot <z fasor saow
BT 2 |7 R Y g e H fiee T R W S ek g 3R
WSl B S 8 | Y Rl GIUR 99 8 ST Sl 8 3R SEeRl SUI
W i 3fear ¥ g o o ot foran Srar 2

() X,V AR 2 G AW AT Y’ I TEEHG g e |

(i) Y’ @l fohH JehR SR SITAT 3 AT I§ heb ol ToARM TR Tl

S T fohd TR TERIAT LT 8 ? SUYh THRIHeh FHIHUT ot

30 AMTRaT o1 TqsdieRtu ShifSu |

(i) Y o 3ffn forel 3171 g &eh 1 A1 3R TEEeh ¥ i
faept 3w ufd-srat (Vo) o &9 # foham SiTan 8 | 5
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SECTION D

Questions no. 34 to 36 are long answer type questions.

34. (a)

(b)

15-31/5/1

A few crystals of ferrous sulphate were taken in a dry boiling tube
and heated. Tiny water droplets were observed in the tube after

some time.
(1) From where did these water droplets appear ? Explain.
(ii)  What colour change will be observed during heating ?

(iii) How many molecules of water are attached per molecule of
FeSO, crystal ? Write the molecular formula of crystalline

forms of (I) Copper sulphate, and (ITI) Sodium carbonate.

(iv) State how is Plaster of Paris obtained from gypsum. Write

two uses of Plaster of Paris. 5

OR

An acid X’ present in tamarind when mixed with °Y’, produces a
mixture Z’. Z’ on addition to a dough when heated makes cakes
soft and spongy. Y’ is prepared from common salt and helps in

faster cooking.

(1) Write the common names of X, Y’ and ‘Z’, and the chemical

formula of Y’.

(i1)) How is Y’ prepared and how does it help in making cakes
soft and spongy ? Illustrate the reaction with suitable

chemical equation.

(111) Write the name and chemical formula of a mild base other

than Y’ used as an antacid. 5
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35. (a)

(b)

15-31/5/1

g feffa @ & fou fordt v f stiirresn HifSu for gemmer-geamo
& U HE SIS OIS & | 39 YN 1 JU 3T TRy
fafau | 5

(1)

(i1)

AT

— T H I

(D (ID

I TG TS TR aedl § M@ () § I ary i
frepi @ = & 9 # yargd fRE T g Sefh sm@ (1) |
fFvam & ag & g4 & g ¥ varfea fem w2 | g
WEHTTE o T h GHT Sl greRn B H fiE-fie sy e |
I T |

ol 1 o fog 1 3@ Tiew 3R 38 W (1) gR HIRERN, 3[R
(II) gfactas (FAiceIrie) sl THifehd hifST | gt grr fsarfea
T ST T Ieoig HIT | 5
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35. (a)

(b)

15-31/5/1

Design an experiment to demonstrate that carbon dioxide is
essential for photosynthesis. Write the observation and conclusion

of the experiment. 5

OR

1)

Syringe

i | jTNC Water

Lime water iy

(D (1)

In the experimental set-up shown above in diagram (I)
atmospheric air is being passed into lime water with a
syringe while in diagram (II) air is being exhaled into lime
water. The time taken for the lime water to turn milky in

both the test tubes is different. Give reason.

(ii) Draw the diagram of an open stomatal pore and label
(I) Guard cells, and (II) Chloroplast on it. Mention two

functions performed by stomata. 5
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36. (a) (1) Tordell 9ftay 3a¥d o 3 R W WA= gt 9+ RS dH
1 Teh-fags @ I 3, Sefh @ gfoty fud ®ar 2 | sEd
JaTEd 9T H @1 GRaaH G'Tg oM ? 39 | 1 AW iR 98
o foafige ST 39 I99 o1 I S | A9 TR R B |

(i) Torel afy 1 =aEdr @ Ty EH 15 Vo 9r dai &l
S, T 5 Q T Yfdliesh, Th 10 Q T Yfdlegsh 3 Th 15 Q
H1 Tfgsh a1 Th T Heit, @t Aot O FEifa € | sE
(I) TR & Feht oA aTett faga 9w, am (1) 10 Q Iflige
Rl R forvam=t S1a I Sefeh @ el 9 3 | 5

HAAT
b) ()  “ forgal o = faveT=R 19iee @ |” 98 He &gl I @ ?

(i) Tordt HIW % IR HT E 0-2 mm IR IAEHAT 16 x 108 Qm
2 1 3@ AR 1 YfY 14 Q o9 & fow fhad o ar R
HAERHA gl ? Afe IR 1 =AE g R fear S, q 9’
gfoer ° feraan aftea g 2 5

wis &

97 G&IT 37 T 39 JHVI-TETRA / H1HST-STERT 97 8 15778 g & 3 &g 37977 & |
374 @ TF 34T § 3Rk 5I7 1397 T & |

37. A Tk HAAME! qwdl 8 S gl FSfi Sl q°1 gAR ST hl §gd | aeqH
ST YT ST 8 | I hl TASThdT IR B & HRUT 30 TS THR &
AT §9d B | HIEH & AT, FESISM, TSN, Te®l, FARM qe 37
Fgd ¥ ql o WY A S @ |

(a) ET3SIehled fohrs had & ? 1
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36. (a) (@) The potential difference across the two ends of a circuit
component is decreased to one-third of its initial value, while
its resistance remains constant. What change will be
observed in the current flowing through it ? Name and state
the law which helps us to answer this question.

(ii) Draw a schematic diagram of a circuit consisting of a battery
of four 1-5 V cells, a 5 Q resistor, a 10 Q resistor and a 15 Q
resistor and a plug key, all connected in series. Now find
(I) the electric current passing through the circuit, and
(IT) potential difference across the 10 Q resistor when the

plug key is closed. 5

OR
b)) @ When is the potential difference between two points said to

be 1 volt ?

(i1)) A copper wire has a diameter of 0:2 mm and resistivity of
1-6 x 1078 O m. What will be the length of this wire to make
its resistance 14 Q ? How much does the resistance change,
if the diameter of the wire is doubled ? 5

SECTION E

Questions no. 37 to 39 are case-based/data-based questions with 3 short

sub-parts. Internal choice is provided in one of these sub-parts.

37. Carbon is a versatile element that forms the basis of all living organisms
and many of the things we use. A large variety of compounds is formed
because of its tetravalency. Compounds of carbon are formed with

oxygen, hydrogen, nitrogen, sulphur, chlorine and many other elements.

Answer the following questions :

(a)  What are hydrocarbons ? 1
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(b) 39 G TO < FA TS Sk HRUT e TS T&AT § Ak 1 Fehdl
2 | 1

) () () Ufesas, 3R (2) hHlcd H IURYA ThMAicHs g & T
fifgu | foreft S i Sufeufa 4 udaTss 3 3R woHia &
i g1 areft rfufshan <1 TERTe wHie fafgu | 2

AT

(¢ (i) HTHATH FHEFS &1 B & ? g¢q (C,Hy) % al GHEFE! 6l
A foafEu | 2

38. TNV UTEHi h Tifieh S <hl HEwaqUl fshal & | I8 Teh UH! TETTH ShAT §
STt aTeal H fSeE 6 UfshAm Bl gETed S 8 | U, S, hie ST uaft qmr
% USi=¢ BId @ | = o v g § §gd 8§ qiEdd 2 @ |

(a) TI-9TATOT TR -Gl § gy o= fafEu | 1

(b) 59 % 38 9T H1 99 fAfgw S et i T & forw Ry e B |
= o IvETq 39 W 1 1 BiAT | ? 1

© () T & gfoaw fafee | fe=m 6 gwarq feelt oo # dfios
3 TSI k1 7 BT & 2 2

HAAAT

(c) (i) THRa Bd ST o HH-H 9T WA TF 3N Yt IS HaAd & ?
I & HE B o hIFVT | 2
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(b)  List two properties by virtue of which carbon can form a large

number of compounds. 1

(c) (@) Write the formula of the functional group present in
(1) aldehydes, and (2) ketones. Write chemical equation for
the reaction that occurs between ethanoic acid and ethanol

in the presence of a catalyst. 2

OR

(¢) (11) What are structural isomers ? Write the structures of two

isomers of butane (C 4H10). 2

38. Pollination is an important process in sexual reproduction of plants. It is
an essential process that facilitates fertilisation in plants. Pollinating
agents can be wind, water, insects and birds. Several changes take place

in the flower after the fertilization has taken place.

(a) Write the main difference between self-pollination and

cross-pollination. 1

(b) Name the part of the flower which attracts insects for pollination.

What happens to this part after fertilisation ? 1

(c) (@) Define fertilisation. What is the fate of ovules and the ovary

in a flower after fertilisation ? 2

OR

(¢c) (i) In a germinating seed, which parts are known as future

shoot and future root ? Mention the function of cotyledon. 2
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39. I il hHl Tt TohaT FITT Yo S8 Toh TUUT 310 W 48 aTeT SR TR
! qUEfdd L <dl & | g9 ek S H & JhR o qUUIl — THAA IR e
1 ITANT hLd @ | ToREl el U0 1 Tadeh gos Hiqt sl TR AT STt hi
3R Jfshd Bl Hehdl g | IFada Ul H Fadd Hiad I3 ¥ BT g, Selieh 3
TUUI § 9Ea aTed 956 | BT B |

(a)

(b)

(c)

(c)

15-31/5/1

A UV < H&F A& hl g fAfem | 1

SIs Jehre Tohtur fopeft STaaet gioT W, gUUT o J&F 3181 o THT=R ATId
HA 7 | A e o qvarq I8 Fohtor guur & g 3781 W feod guur &
4d ¥ 10 cm 1 g8 o forg ¥ Bept Todl &, 1 U0 <l sk B F11a

T | 1
(i)  ohig o7 15 cm WIHH Gl o ITA GO H ¥d H 10 cm G T
feda 2 | wfaferes Y fefa ma Hifse | 2
T

(i) ohIg <gur foreft fara 1 amwrelt, Hienm R 9w A fara @ Bt
gfdferrs S9TAT 8 | 39 €U & YhR <hl UgFH hIfaIC | 39 Jehiul |
gffers o941 g9 o fore fomor e i | 2
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39. A highly polished surface such as a mirror reflects most of the light
falling on it. In our daily life we use two types of mirrors — plane and
spherical. The reflecting surface of a spherical mirrors may be curved
inwards or outwards. In concave mirrors, reflection takes place from the
inner surface, while in convex mirrors reflection takes place from the

outer surface.
(a)  Define the principal axis of a concave mirror. 1

(b) A ray of light is incident on a concave mirror, parallel to its
principal axis. If this ray after reflection from the mirror passes
through the principal axis from a point at a distance of 10 cm from
the pole of the mirror, find the radius of curvature of the mirror. 1

(c) (@) An object is placed at a distance of 10 cm from the pole of a
convex mirror of focal length 15 cm. Find the position of the
image. 2

OR

(¢c) (1) A mirror forms a virtual, erect and diminished image of an
object. Identify the type of this mirror. Draw a ray diagram
to show the image formation in this case. 2
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